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40| I T mg/L, — 69 oo o 78 oo oo 67 oo oo 71 oo 500 1
41 [fa A il mg/L. 002 | et LU 25,3 e Q02T L e Q2 ... 82 902
2|V A A mg/L — 0.000001 | = — ... |o.00000 K| —— 10000001 K| —— = o.00000 K| —— 0.00001f 0.000001
3|2 AFNA BN IA L mg/L, o d0.00000 | —— —— .| 0000001k . == = 10.000001 k0] —— ——...]o.000001 k8] —— 0.00001] ...0.000001
44| FEAA IR P mg/L, — 0.005 A7 oo o 0.005 A1 oo oo 0.005 A7 oo oo 0.005 A7 oo 0.02 0.005
45| 7= /=5 me/L, i 0.0005A4H) .. —— ——...10.00054K0] . == == 10.0005K] . —— — ... 10.000540H] . —= 0005 00005
46 | M) (BATHEIGR(TOC)D ) | me/1, 0.3 0.3 0.4 0.3 | 0.3AKM | 0.3 | 0.3 | 0.3 | 0.3 | 0.3 | 0.3 | 0.3 3 0.3
47| pHfE = 7.8 8.2 7.8 8.0 8.0 8.1 7.8 7.7 7.8 7.7 7.8 7.8 5.8~-8.6 =
48|k - BERL | Bl | Wesel | Bgeel | Bagzel | Bagsel | Bgsel | Bl | Sl | el | Sl | el AERL =
49| 75 - BERL | Bl | Wgeel | Bgeel | Bggzel | Bggsel | Bl | Bagsel | Sagsel | sl | sl | el AERL =
50 | () i 0.5t 0.5AK0.. ). .54, |, .50 | 0.5 0.5 0.5, | 0.5 | 0.5 | 0.54Mm | 0.5 | 0.5A4% 5 0.5
51| i3 0. 1A 0. 1A | 0. 1404 0.2 0. 1A, | 0. 1A% | 0.1 | 0.1 Am | O.1AKM | 0.1AKM [ 014K [ 0140 2 0.1
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